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75,500 71,200
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72,800 69,000

(7 -6 (5.5)

8|S Bttt B3 T H219% 5.9
72,000 68,000

®) -1 (4.6)

o] = Ve THiBRRk4A T B 7178134 4.9
61,900 59,000

9) -9|lBARk4—5—25] (5.2)
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1| AR AR LT R R AR 112153 8.1
54,500 50,400
7 -1 (6.1)
2|1 T ILERI2 T H594% 7.1
77,000 71,900
(6] -8l 2 —8—13] (7.3)
3|1 LIS T H151% 7.0
84,500 79,000
19) -1|M b5 —9—9) (3.9)
4| FEHET I ERTRE ) E5T)111234%20 6.5
36,300 34,100
(6) -6 (6.6)
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41,500 39,000
9) -2 (5.4)
6|1 VBT Ai 4 T H 1233534+ 6.0
75,500 71,200
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711 PR3 T H11433%10 5.9
77,000 72,700
3) -2|THEFPE3 —9—29 (6.9)
8|St BT _ L3 T H219% 5.9
72,000 68,000
(15) -1 (4.6)
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(8) -6 (5.5)
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2) -17 (-4.2)
2|1 PR T N BT R T RFER 7 AR I\ 49975 -3.8
7,600 7,900
(3) -23 (-3.7)
3| R FEHETIIRIT A AR 1024751 -3.8
10,200 10,600
(4) -2 (-3.6)
4|1 Ve T E AT R PHEFL 5 AR 27 14 -3.6
13,200 13,700
(5) -20 (-3.5)
5| R FEHETAERTITBIARFEIR £,344% -2.5
3,880 3,980
(8) -15 (-2.9)
6| & H VERATHTARA BT RAE R N 404 7% 2.2
13,200 13,500
9) -4 (-2.9)
7| R JEET EORIT S R 1 0 11063% 34 -2.1
9,200 9,400
(16) -9 (-2.1)
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6,000 6,130
11 -5 -2.7)
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9,300 9,500
a7 -6 (-2.1)
10[KHT Fr B AR ITHT K5 RWT A 8 7279%: 1 -2.0
4,850 4,950
19 -2 (-2.0)
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o] = PR ismE2T B 1654k 7.1
) 75,000 70,000

(9) 5-18|lémE2—1—2 (4.5)
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- 74,000 67,000

11 5-8|M#rkH1—4—8) (13.6)
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1|#ER PR TR 123544 17.0
117,000 100,000

(4) 5-2|[ 4 )11mT2—20 (10.5)

2|1 i RA2 T H12%1 16.2
122,000 105,000

1) 5-6I Kff2—1—15] (16.7)

RY e PR B A T H 2184% 4+ 15.8
110,000 95,000

(5) 5-1|1#pEFH4—12—20) (8.6)

4| P 1 T H 586%F 14+ 10.4
- 74,000 67,000

(2) 5-8|M#rkH1—4—8) (13.6)
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12) 5-4|l k4 iL2—5—38] (3.1)

[o] R T ILERI2 T H781% 8.8
90,500 83,200

(3) 5-17|M L2 —17—5] 11.7)

7| s ST R IERT S BRI 7 2256 7.9
82,000 76,000

(6) 5-1 (7.0)
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N 284,000 265,000
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o] = PR ismE2T B 1654k 7.1
) 75,000 70,000

(10) 5-18|lémE2—1—2 (4.5)
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100,000 93,500

8) 5-10|M b4 —14—20] (5.1)
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10,800 11,100

(6) 5-13 (-1.8)
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(3) 5-2 (-2.2)
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50,600 51,300

(10) 5-1 (-1.3)

10| 5 BB TH R S U7 AR 398 7% 3 -1.4
29,200 29,600
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(3) 9-1 (13.3)
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(8) 9-2 (1.4)




